A“ ‘f‘s/\ /
NN

N8 |7

N ‘\"‘9{% ¥ A 2
AR
Y \ © % ;\‘\}\

MECHANISM DIFFERENTIAL & FREE WHEEL Plan No.

FRAME TYPE 2219 1/2| EPO0187/H
Scale: 1:5 Drafted Verified Confirmed \V
EP0O0187 / H Date 02/10/2014 | 12/05/2021 | 12/05/2021

Initials N I~ /2




EP0O0187 / H

Material Material
No. Plan Article Quantity No. Plan Article Quantity
1 YP04707 2886600 2 29 Chain 2993196 1.4 [m]
2 XP02365 GP17200 1 30 G040600 1
3 X002282 1992854 6 31 XP01259 2992306 (01 ) 1
4 6x6x50 DING885A GP19000 2 XP01671 2993508 (02) 1
5 XP02371 GP17600 1 XP01672 2993509 (03) 1
6 XP02370 GP17500 1 XP01673 2993510 (06) 1
7 XP01189 2886004 2 XP01674 2993511 (07) 1
8 XP01195 2992221 2
9 XP01197 2992222 2
10 XP01202 2992224 1
11 XP03236 2631200 1
12 XP01283 2992321 1
13 XP01319 (23T) GP06200 1
XP03162 (22T) GP25300 1
14 D10,5 DIN 125 1001558 3
15 M10 DIN 934 1001672 4
16 D15 DIN 6799 1003049 4
17 (Free Wheel -23T) 1008502 1
XP03160 (Free Wheel -22T) 2996728 1
18 XP01296 2992350 1
19 Wheel 24" Drive 2994425 2
20 Lagoon 1902734 3
Vintage 1907965 3
21* 1902733 3
22 M8x25 1990501 2
23 M5x16 1006112 6
24 1994568 6
25 D8,4 DIN 9021 1996574 2
26 M10 DIN 493B 1903216 1
27 M6x90 DIN 912 1911103 (01,02,03) 4
M6x110 DIN 912 1911104 (06) 4 ‘ ‘ |
M6x100 DIN 912 1998869 (07) 4 MECHANISM DIFFERENTIAL & FREE WHEEL Plan No.
28 M6 DIN 127B 1004414 4 FRAME TYPE 2219 2/2| EP00187/H
Scale: 1:5 Drafted Verified Confirmed \\\\V/’/’
. , Date 02/10/2014 | 12/05/2021 | 12/05/2021
not depicted Initials AZ AZ TK 209




